g

(1/0) do/d z

Ratio to ATLAS

[HEN
N

=
N

[EE
o

0.5

13000 GeV pp
L B B I

Relative P, Zg (ATLAS soft-drop observables)

ATLAS
Pythia 6.428 345

|
--0--

----- £t Pythia 6.428 346

—A— Pythia 6.428 370
Pythia 6.428 default

—a— Pythia 8.308 default

.5 ;
: 1
: 1
T T : 'S
Ab T T ¥ g
T ;. - A ’| .I- /? E ':.“' ; 1 5::‘) ‘ —
§ A '/ BT Yy ad
< i RIA v y VY
=5 Ny (Y A ;L ANACTING [N ‘k'ﬂk‘
SNy S e ST o 4""?"4?!;[ A..ﬁg;i,=ﬁ:,=‘h AN Inimﬁ Ivl
R S = g LD AR g VT -V
A paa 5 3] i [0) L] J\ A o
T Chy DA i AL AR
o ST T TN L R
: s T H
A e !
A o |

4 ~

Rivet 3.1.10, = 3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


